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Question 1
Question text

What was the share of urban population in India in 2011 (decimal points are adjusted to the
nearest level)?

Select one:
a. 40%
b. 28%
c. 31%
d. 50%

Question 2
Question text

Spatial Dispersal of Economic Activities mean

Select one:

a. Concentrate on Eastern India

b. Concentrate on developed areas

c. Achieve Regional Balance

d. Concentrate on North India

Question 3

Question text

What is relationship between urbanisation and economic development?
Select one:

a. No

b. Positive

c. Negative

d. Neutral

Question 4

Question text

In which year Global Urban Population crossed 50% mark
Select one:

a. 2010



b. 2019
c. 1985
d. 2007



